he ::.Evm of oscillations per second is slightly aE.Q_QN* tor

answer: if we have two sources at slightly different frequencies
‘net result, an oscillation with a m_o£_< wc_mmcnm intensity.

s

y is to the subject! _ _ _ ,
».o_.BEmS this result Bmﬂraam:om:w also. Suppose, for ex- From Tue ! FeYnmAN
two waves, and that we do not worry for the moment about LECTORES oN PuygiCs

as, but simply analyze what arrives at P. From one source, let
.6 COs w1, and from the other source, cos w»t, where the two
e same. Of course the amplitudes may not be the same, either, R |
e mo:ﬁ.m_ ?.oEoB later; let us first take the case where the , R *

. Then the total mBE_an at P is the sum of these two cosines.- . AR |
—anm 3. So £m<ow mmm_zmﬁ :5 :Bo asin m._m 48-1, we see 2.5.”
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